ALGEBRA I EXAM 3.2 Part I
[image: image1.png]1. Consider the expression (x> — 4)(x + 3).

Select all values of x for which (x> —4)(x + 3) =0.

M. -4
P. -3
R. -2
S.
T




[image: image2.png]2.Consider the equation
X2 = 12x + 49 = 22.

Which equation has the same solution(s) as the given equation?
M. (x - 6)>=9

P (x—7)2=22

R. (x+7)2=47

8. (x — 12)2 = —27




[image: image3.png]3. Which binomial is a factor of the expression 2a2 — 10a — 48?
A. a+3
B. a+38
C. 2a+3
D. 2a -8




[image: image4.png]4. Consider the function
f(x) = —2x% + 20x — 42

Which graph shows all the values of x for which f(x) = 0?
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[image: image5.png]5. A farmer performs an experiment to find the amount of fertilizer needed to
increase crop yields. She uses different amounts of fertilizer, measured in pounds
per acre (Ib/acre). She then records the yields, in bushels per acre (bu/acre). Her
results are shown in the table and graphed on the scatter plot.

Fertilizer Yield
(Ib/acre) | (bu/acre)
40 28
60 54
80 70
100 82
120 86
140 83
160 72
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Which equation best models the farmer’s data?

M. y = 0.37x + 31
P. y = 32(1.006)
R. y = —0.000x2 + 2.13x — 43
S. v = —0.009x2 + 2.13x + 43




[image: image6.png]6. 1662~ Tx— 5 is factored as (ax — b)(cx +d) where a, b, ¢, and d are posifive integers, then @
equals:
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7. At the school carnival, while standing on a platform, Jen tossed a bean bag from a height of eight feet. Below is a graph of the bean bag's trajectory. Match the graph to the equation.
[image: image7]
	[image: image8]
	A.
	[image: image9]
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	B.
	[image: image11]
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	C.
	[image: image13]
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	D.
	[image: image15]


8. Determine which answer choice below is equivalent to the given expression by completing 

the square.
[image: image16]
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	A.
	[image: image18]
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	B.
	[image: image20]
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	C.
	[image: image22]
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	D.
	[image: image24]


9. What is the effect on the graph of the equation y = x2 + 2 when it is changed to y = x2 - 4? 
	[image: image25]
	A.
	The graph is shifted 6 units down.


	[image: image26]
	B.
	The graph is shifted 6 units up.


	[image: image27]
	C.
	The graph is shifted 6 units to the left.


	[image: image28]
	D.
	The graph is shifted 6 units to the right.


10. What are the roots of the quadratic equation x2 - 10x + 9 = 0? 
	[image: image29]
	A.
	1 and 9


	[image: image30]
	B.
	1 and -9


	[image: image31]
	C.
	-1 and 9


	[image: image32]
	D.
	-1 and -9


11. What is the y-intercept of the function f(x) = 4(x - 4)? 
	[image: image33]
	A.
	-16


	[image: image34]
	B.
	4
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	C.
	1


	[image: image36]
	D.
	-4


12.  Consider the equation x2 – 12x + 49 = 22.  Which equation has the same solution(s) as the 

given equation?

A. (x – 6)2 = 9
B.
(x – 7)2 = 22
C. (x + 7)2 = 4.7
D.
(x – 12)2 = -27
13. Which of the following represents the graph of the equation: y = -x2 + 2

	[image: image37]
W.
	[image: image38]
X.

	[image: image39]
Y.
	[image: image40]
Z.
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	A.
	W


	
	    B.
	X
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	C.
	Y
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	D.
	Z


[image: image44.png]14.The length of a garden is 6 feet more than the width. The area is 40 square feet.
a. Write an algebraic equation to determine the length and width of the garden.

b.What is the length, in feet, of the garden?




[image: image45.png]15. Match each graph with the function it represents; choose from those listed below. (6 points)
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[image: image46.png]16. A function f is represented by the graph below.

Afunction g is represented by the following equation.

90 = (-6 36

A function I is represented by the following table.

x -1 1 3 5 7

163) 10 14 18 22 26

(@) Identify which of the following functions has the largest value and which has the smallest vaiue.
£(1000), g(1000), R(1000) (2 points)

(®)Write an equation for function /. (1 point)
(9)Write an equation for function /. (1 poit)




[image: image47.png]17.An arrow is shot into the air. A function representing the relationship between the number of seconds it
is in the air, £, and the height of the arrow in meters, h, is given by

h(t) = —4.9t% + 29.4t + 2.5.
a. Complete the square for this function. Show all work.

b. What is the maximum height of the arrow? Explain how you know.



[image: image48.png]How long does it take the arrow to reach its maximum height? Explain how you know.

What is the average rate of change for the interval from t = 1 to t = 2 seconds? Compare your
answer to the average rate of change for the interval from t = 2 to t = 3 seconds, and explain the

difference in the context of the problem.



[image: image49.png]. How long does it take the arrow to hit the ground? Show your work, or explain your answer.



[image: image50.png]f. What does the constant term in the original equation tell you about the arrow’s flight?




[image: image51.png]18. Consider the equation x? — 2x — 6 = ¥ + 2x + 15 and the function f(x) = 4x* — 16x — 84 in the
following questions:

a. Show that the graph of the equation x> — 2 — 6 = y + 2x + 15 has X-intercepts at x = —3 and 7.



[image: image52.png]= 4x? — 16x — 84 are the same as the x-values of the
—3and7).

b. Show that the zeros of the function f(x.
X-intercepts for the graph of the equation in part (a) (i.e., X

Explain how this function is different from the equation in part (a).

d. Identify the vertex of the graphs of each by rewriting the equation and function in the completed-
square form, a(x — h)? + k. Show your work. What is the same about the two vertices? How are

they different? Explain why there is a difference.




[image: image53.png]€. Write a new quadratic function with the same zeros but with a maximum rather than a minimum.
Sketch a graph of your function, indicating the scale on the axes and the key features of the graph.




